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128 | 2502194117901300128 | %R | 5 41172Tk%sk%%% 1 73X RS THREPL4EE T %%/ hek T | — |94.5( 87 | — | —
129 | 2502194117901300129 | #[% 3 | 5 41172Tk%5k%%%3516 RS THREPL4EE T W/ ek T | — |97.5) 75 | — | —
130 | 2502194117901300130 | fL&F & | B 41172T#kk3k85%8793 RS THREPL4EE T /g T | — | 79 |74 | — | —
131 | 2502194117901300131 | Z=#E ML | 59 41172 THskkrkkx 7531 R THREPL4EE T e/ T | — |82 | 75| — | —
132 | 2502194117901300132 | 252 | 58 41172 Tkkkkkx 1733 R THREAL4EE T ugk/ kT | — [94.5| 3 | — | —
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137 | 2502194117901300137 | %IjB&& | %« 41172 T#k%5k%%%4929 RS THREPL4EE T /g T | — | 94 |74 | — | —
138 | 2502194117901300138 | xiAK1E | 5 41172 T#kksk85%493X RS THREPL4EE T e/ hek T | — |97.5) 73 | — | —
139 | 2502194117901300139 | Z'{#Hr | B 411T72Tk%xk%%%465 1 RS THREPL4EE T D%/ hek T | — |86.5 84 | — | —
140 | 2502194117901300140 | 4~—fE | B 41172Tk%k%%%7534 RS THREPL4EE T /g T | — |95 75 | — | —
141 | 2502194117901300141 | #&4E |5 41172Tk%xk%%%3515 RS THREPL4EE T %/ hek T | — |92.5 84 | — | —
142 | 2502194117901300142 | ¥&4LiE | « 41172 Tk %% 282X RS THREPL4EE T 2/ hek T | — |94.5( 70 | — | —
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144 | 2502194117901300144 | BEZE | 5 41172 T#kksk45%3558 RS THREPL4EE T /g T | — | 70 [ 76 | — | —
145 | 2502194117901300145 | FEi& |5 411T72Tk%k%%%8577 RS THREPL4EE T %/ hegk T | — | 94 [ 84 | — | —
146 | 2502194117901300146 | FZx#H | 5 41 1T72Tk%55%5%0638 RS THREPL4EE T /T | — | 94 [ 68 | — | —
147 | 2502194117901300147 | F &8 | & 41172 Tk%55%5%0846 RS THREPL4EE T /g T | — | 87 |75 | — | —
148 | 2502194117901300148 | FE2#4 | B 411T72Tkksk%%%1 312 RS THREPL4EE T g/ ek T | — |100| 87 | — [ —
149 | 2502194117901300149 | F£&xk | 5 411T2Tkkk%%%4214 RS THREPL4EE T g/ hek T | — |89.5 85 | — | —
150 | 2502194117901300150 | FEM | &« 41142 Isksksoknxk (14X RS THREPL4EE T /T | — | 88 [ 83 | — | —
151 | 2502194117901300151 | E1%% | B 411T72Tkksk%x%1 714 RS THREPL4EE T /T | — |89 [ 79| — | —
152 | 2502194117901300152 | FE14E | B 41172 T#kksk55%46 16 RS THREPL4EE T e/ ek T | — |87.5) 77 | — | —
153 | 2502194117901300153 | Lz |« 41172 T#kk5k55%856 1 RS THREPL4EE T %/ hek T | — |93.5) 73 | — | —
154 | 2502194117901300154 | ALAkHE | %« 41172 T#kksk85% 1 72X RS THREPL4EE T P/ hek T | — |93.5( 74 | — | —
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155 | 2502194117901300155 | ¥ | B 411T72Tkkk%%%5214 RS THREPL4EE T /T | — | 91 [ 89 | — | —
156 | 2502194117901300156 | #3%k |5 411T2Tkkxk%%%421 1 RS THREPL4EE T /T | — | 8283 | — | —
157 | 2502194117901300157 | %5 | %« 41 1T72Tk%k%%%4684 RS THREPL4EE T g/ hek T | — |89.5( 79 | — | —
158 | 2502194117901300158 | & T | %« 41 1T2THk%k%%%T648 RS THREPL4EE T g%/ hek T | — |100| 84 | — [ —
159 | 2502194117901300159 | &K | B A1172T#k%x5%%3953 RS THREPL4EE T %/ hek T | — |95.5 82 | — | —
160 | 2502194117901300160 | 5K | 5 41172 T#3kk555%8270 RS THREPL4EE T /T | — | 91 [ 8 | — | —
161 | 2502194117901300161 | 5KfLHE | 5 41172 THskkkk%%4234 RS THREPL4EE T /T | — | 938 | — | —
162 | 2502194117901300162 | K4kt | %« 41172 T#kk3k85%396 1 RS THREPL4EE T %%/ hek T | — |85.5] 84 | — | —
163 | 2502194117901300163 | 3k |5 411T72Tkkk%%%4233 RS THREPL4EE T /T | — | 81 |8 | — | —
164 | 2502194117901300164 | 3KfksR | & 411T2Tkksk%%%1 723 RS THREPL4EE T /g T | — | 87 [ 74 | — | —
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167 | 2502194117901300167 | #XHig | 5 41172T#kksk55%3115 RS THREPL4EE T /T | — | 89 [ 80 | — | —
168 | 2502194117901300168 | =z #k | %« 4117225555 %%T 425 RS THREPL4EE T e/ hek T | — |97.5) 75 | — | —
169 | 2502194117901300169 | JE4m: | 5 41172 T#kksk85% 3534 RS THREPL4EE T %%/ hek T | — |95.5[ 84 | — | —
170 | 2502194117901300170 | JE 5t | B 411724%k%55%%%0855 RS THREPL4EE T e/ ek T | — |95.5( 70 | — | —
171 | 2502194117901300171 | JEitz: | 5 4128265k %3k%%%4618 RS THREPL4EE T g/ ek T | — |100| 60 | — [ —
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173 | 2502194117901300173 | LiHfE | %« 41172 T#kk5k45%2546 RS THREPL4EE T g/ hek T | — |89.5] 81 | — | —
174 | 2502194117901300174 | J5&5[HA | %« 41172 Ttk 3543 RS THREPL4EE T %/ hek T | — |99.5[ 66 | — [ —
175 | 2502194117901300175 | B=M | 5 41172Tk%xk%%%T7553 RS THREPL4EE T s/ hek T | — |91.5] 67 | — | —
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178 | 2502194117901300178 | 214k | B 41172 Tskkskoksk%4959 = THEN4EE T Wk /vhek T | — |95 72 | — | —
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182 | 2502194117901300182 | FizfE | B 41172 T5kskx608 10 = THEN4EE T ek /vhek T | — [86.50 86 | — | —
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